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1 |deiEE 51E+3 5124.4
2 | BEHRER 5.6E+3 5,637.0
3 |5FE 6.3E+3 6,308.0
4 |EHE 4 7E+3 4,737.0
5 |#EAEER 6.4E+3 6,440.2
6 |[ILFR 3.1E+3 3,081.0
7 |EBE 6.5E+3 6,540.5
8 |REE 4.5E+3 45445
9 [HARE 2.7E+3 2,656.0
10 [BEER 3.8E+3 3,753.8
11 |BER 2.9E+3 2,901.1
12 | T8 2.0E+3 2,005.9
13 |EEAD 1.2E+1 12.0
14 |[ARNE 1.7E+2 166.0
15 |FiRE 1.4E+4 13,5245
16 |EWE 2.6E+3 2,582.7
17 |BNE 8.9E+2 894.0
18 |f@HAR 1.7E+3 1,663.0
19 |IWFRE 3.1E+2 313.9
20 |RHE 1.0E+3 1,044.5
21 |IKEER 1.3E+3 1,255.4
22 |FEEER 3.4E+2 336.2
23 | EHME 6.5E+3 6,523.2
24 |ZEE 1.8E+3 1,801.3
25 |#ER 1.7E+3 1,708.2
26 |FRABAT 6.4E+2 642.0
27 | XBAF 2.0E+1 20.0
28 | EER 9.3E+2 933.1
29 |E=RE 1.3E+2 128.0
30 |[FnERLE 1.7E+2 168.2
31 |EmME 1.2E+3 1,178.0
32 |ERE 1.4E+3 1,435.1
33 [MIIE 2 6E+3 2,575.9
34 |[LEBR 3.1E+3 3,063.1
35 |lLOg 3.6E+3 3,635.4
36 |EEER 7.8E+1 71.5
37 |BINE 2.5E+2 254.0
38 |ERE 6.3E+2 633.2
39 |=HE 2.9E+2 294.0
40 |{EREE 2.3E+3 2,312.7
41 |EER 8.1E+2 813.7
42 |RIBE 1.6E+2 156.2
43 |RERE 3.8E+3 3,787.4
44 | K8 4 AE+2 438.1
45 [EIBE 1.7E+3 1,652.3
46 |[ERBE 9.3E+2 929.5
47 g 4.2E+1 42.0
2E 1.1E+5 110,723.7
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